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(1) 9 (2) — (3) 1—
30 80
(1) 8 (2) 18 (3) 775
(4) 50 (5) 240 (6) 344
(1)
7 36 A 38 74 14 - 7 505
(2)
fEANVEEZ1ETH L
B 1 X (140.4) = 1.4
FEDMEIL 1.4 X (1—0.2) = 1.12
FEVEEEANEDOZE (FIZE) 1T
.12 -1 =0.12
L7=NoT, fEAIVE (1I1CHhi=b4%8) 1% 540 +— 0.12 = 4500
oA 4500 as|
(1) 85 (2) 16 (3) 678. 24
(1) 25 cm [(2) R 2.5 em | (3) 60 cm | (4) 250 et
Bl |1 2 4| 5| %5
3 ()& 2/ (2)1048
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o) EE e NF)VFDIR
[5]
(1) 320 g |@ 100 cm® | ® 180
(4) 60 cm®  |G) kD :mrE= [ 1 5§
R AR 161 (2R X8) X2, 6), ORFEENH25.
ARI2 1108 (28 %5) XQEREOH24.
AKRHI3 : 128 (2/%x6) X OEIRBEDOH254,
K4 :10m (2/%x5)
KRS 1282 (D~@)2m@\x*x3, 4B)3RKX2)
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[1]
(1) 4 R PN (GE%& -« IEARTE)
@ Wi o N L, S0 NAREINT 5 Z &,
(2) v (3)|® T @ T (4) e R AR BE
(5) 7 (6) VoA (GEE) (7))@ F K
@ WK N KRELIAKIFZIN LI WD, BEFEICFHHINAL TS,
(8) - (9) - (10) = (11) B i e A T
2]
(1) v (2) R RE|(3)] = = 4 = 7 =7
(4) Ve (5) A (6) v (7) 7+
(8)| A4 = = = 7 = 7 (9) |BAIX BBLE ML RoTo (Bbhiory),
(10) 7 (11) A (12) N RS
(13) A (14) AR
3]
(1) ASEAN (2) B (3) =
(4) 727 hL— K (5) T (6) R
(7) v (8) - (9)|@® - @ I e B P ©)
(Fd 25

(1) ®, @-(2)-(5)-(6)-(7) @-(9) - N0)=2x TOMIK

(2)-(12) - (14) =18 ZoOf28

(5)+-(7) =24 Zof1x
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